Unit 1. Food

Vocabulary Preview

A 1. lifestyle 2. nomad 3.serve
4. elder 5. guest 6. grain
7. store 8. practice 9. funeral
10. related

B 1.d 2e 3.c 4a 5.b
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Reading 1 p.12
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Visualize the Text
(2) elders
(4) chopsticks (5) standing

(1) guests (3) wave
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observes more dining rules than most other
cultures do.
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@ For example, no one may sit down to eat
until the guests take a seat.
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@ Chinese do this only at funerals to offer the
rice to the dead person!
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Reading 2 p.14
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Summarize the Text

(1) moved with their animals

(2) grew their own food

(3) stored grains and vegetables

(4) don’t have time to cook
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@ The oldest groups of people on Earth lived as

nomads.
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@ Later on, as people began growing their own
food, they could produce large amounts for
the winter.
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@ Most people are so busy that they don’t have
time to cook.
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Unit 2. Pets

Vocabulary Preview

A 1.cage 2.bacteria 3. feed
4. risk 5. patience 6. nap
7. climb 8. realize 9. useless
10. advice
B 1.c 2.d 3.a 4b 5.e
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(1) playmates (2) patience (3) healthy

(4) trouble (5) noise (6) bacteria
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€Y Some people say that having a pet is too
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Finally, pets can help children keep healthy
minds.
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€E¥ 1 don't thinkit’s so great to have a pet.
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Reading 2 p.20
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Summarize the Text

(1) took a nap

(2) someone was coming
(3) the cage door was open
(4) cried loudly to wake up

(5) the snake was coming closer
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@Y 1will tell you about what happened today.
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@& He put me into a cage and took a nap next to
it.
- take a nap : FES At

€& When it finally showed up, I almost stopped

breathing.
*show up : LIEfLICE

@EY cried loudly to wake him up.
<10 wake up2 ~2 77| Yalf 2| ojojz =X
= LE= AR 83Ol toR AT
«wake him up : (SA + EARS| A0 =5
Ol2 AP 2 Z2, SARE 2AL Ajojo] 2,

Answer Key



Unit 3. Camping

Vocabulary Preview p.23
A 1.cabin 2. ride 3. busy
4. homesick 5.leave 6. counselor
7. activity 8. wallet 9. archery
10. send

B 1.a 2d 3b 4c 5.¢
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Reading 1 p.24

1.@ 2.Q 3.© 4L @
Visualize the Text
(1) mountains (2) weeks (3) activities

(4) camp fires  (5) homesick

Answer Key
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52¥ They are away from their parents and home.
- away from : ~0f|Af [LtC

@ There are usually a lot of fun activities at
summer camps.
* There iglare] : ~0| QICt

Reading 2 p.26

1.@ 2. 3.9 4 @

Summarize the Text

(1) writes his parents a letter
(2) he has alot of fun

(3) who is a good soccer player

(4) he will go mountain climbing
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@& We go canoeing every day.

*go + v=ing : ~ot 7Tt

Next week, we are going to make wallets and
learn archery.

*be going to-v : ~&f oFolct ~& Ao|ct

@Y 1 will see you in two weeks.
«in two weeks : 2& Z0f, 25 Qo™

Unit 4. Travel

Vocabulary Preview p.29
A 1.pray 2. important 3. stay
4. resort 5. activity 6. private
7. avoid 8. respect 9. travel

10. tradition
B 1.b 2.d 3.c 4a b5.e
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Reading 1 p.30
1. 2.@ 3. 4.
Visualize the Text
(1) convenient (2) culture

(3) local (4) activities

Answer Key
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But you can hardly see the islands’ real
culture.
hardly : 2 cant 23t MO[0fA 204 A2
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@Y To get a chance to meet local people, it’s
anc i
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better to stay in a hotel.
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«it2 to stay in a hotelE thAlsk=s 7R,

BEY The people will show you their everyday life.

= ome
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Reading 2 p.32

1.© 2.0 3.0 4.0, @

Summarize the Text

(1) travel to Muslim

(2) to respect their customs

(3) to avoid eating

(4) you should dress very carefully

(5) you can show respect
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@ Do you plan to travel to Muslim countries in
August or September?

*plan to—v : ~& AElo|ct

&Y Ramadan is a time for praying and going
without food during daylight hours.
+ go without : ~@10] ZCIC ~Qlo| X|LHCH

*during + E87[2F: ~S¢t

@ By following these things, you can show
respect for the Muslim traditions.
s by + v=ing : ~ECZM

AnswerKey

p.34

Vocabulary

A 1. hardly 2.suddenly 3. care
4. leave 5. related

B 1.© 2.0 3.0

C 1.lifestyle 2. private 3. avoid
4. cabin 5. nap

A 1.because 2. until 3.50
4. swimming 5. were

B 1.going-»go
2. for --» to
3. joining --» join
4. to not leave --» not to leave

5. follow --»» following

Making Sentence

A 1. Most people are so busy
2. it’s so great to have a pet
3. about what happened today
4. He is a very good soccer player

5. going without food during daylight hours

EXER))

» Vocabulary

A 1 =2 hi=2o| L2l 0450”5 719l &4 &+ gL
2. = Zoll 19 xph .
3. LBz olF &Y ZOKKIE S=010f 37| w20 1 47

@ 01|9| HIE @ ?Eﬂ@
@ o E HiE aet
2 AE7IEE Haloitt, T2l o Holl M= HSSIC

Answer Key



10

@ Helet @9 #He
@ et ORGEE RS
3 Lo ZEQHE O 04 WS IHHHﬁfII LoAITy,
@ L=t @ S5l
©PA L)) @ XMZESHC f
C 1. lifestyle2 7HRIOLt ZITto] MEAl of ojnjolct
2. private® ZE ARES {8t A0| ofd, Bt JHRIO[LE T

o H& 9 ojojo|ct,

3. avoid= ‘Al 2 OfH ZoilAf mlstct of ojojolct

4 cabin2 MOILF #0f U= A2 LURE T & 2] 9o
olct,

5. nap2 7 = &, Sol Holl Xi= & 2 2ojo|ct,

» English Usage
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A HiZ2 ~0[7] 20|t
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» Making Sentence
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Art & Entertainment

Unit 1. Music

Vocabulary Preview p.39
A 1.musician 2.slave 3. perform
4. cornet 5. album 6. culture
7. produce 8.return 9. troubled
10. record

B 1.d 2e 3.c 4a 5.b
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perform ¢ produce PHSCH AAfSICH
culture 23t

album (S2h &
o slave =0f

musician 27t
troubled 287t %2 sl=
cornet FUI(ZH2 E24Tl Zto| A71 Z3ot7))

return s0(2Ct record =SolCt

]

global MIAXQ! influence ¥, F&ts ot
unique =535t meaningful 20| U=, St
childhood 0i2! AIE
Reading 1 p.40
1.® 2.0 3.@ 4. @
Visualize the Text
(1) members (2) fun (3) famous
(4) global (5) influence (6) songs

%

HExE F=2 SHE0|H 1960F 2lHE0lM BEUC)
E gHs2 & dl=, 2 W7IEY, =X sii2le 2 gu A
EIRACL 252 B2 M22 iss Usn A3t 1 2
S M| S0|ZRCH,

Js2 A Hnf =2l Love Me Do & Sall G=0lA QIS



‘AnswerKey

A7| AERIEL], 0|0l MAXR!I AEZE ERUCH 252 1964
Hofl ol=ez AZICH 0j=RIE2 1 O8S Al ZoRICE
=2 1965H2E (Rubber Soul), (Revolver), (The Beatles 1.® 2. 3.@ 4.®
and Abbey Road) &2 Z1° HHS PHEOWCL IAS2

SX HIX0IURRH BHE= 19700 SHA =0 ZRUCE

Reading 2 p.42

Summarize the Text

(1) jazz musician

iE2stol 77 IS0 HEe Sifart 159 S92 MET
SS3 o JAISS UL S0 XIS UL MRS of 2 with a unique style
RE 150 20f £7|2 =05t (3) when he was young
(4) to play the trumpet
ox| A
EXER) (5) very successful
1 % 22 FX0i| 2t gy
@ %= 220/ % @ HISZ HH{SC| 57
@ HIERS SR Hef @ 19600 E32el EX m
o 22 9 2HIT HIEXO| WA} TS0 2010| HIE 2 F0| YAES2 AARY 71 27| U= M= U7 S o HO|
stoll 7! kol thal AlmskT Qlct Oh O= Mx EU AFX0IH 70t 29| AFL} w2fof
AEfUS 042 SEC
HISX 2o tHell BSist 210z 71 Ugre 7129
? 52 . HO“ f:,'Hr > e “ e 20| YAESL 19019 F22IHA0N Efojxict, 20| ARE
2| HE St ng=ti|=E=) _ .
5 oo “ Of'* e S Loj%T 00| JIES A Jfddic 2 of2i of2 Al
2o 223 S1 M| _ _ )
e oTjw - )b'f esoninoing, | S 2T B ENOISE #iet S5 smoj sjofet et 2 2
EXO| L= x{o|Ql(fun) =0 Om(interestin - _ -
AH; R HM% U) = eresingl  gix o= 3 eiFsle e iRt StmE oFl 5 O AP
il E5HC|
SneW EEREEnAUe 00| £ 2 S2IHZHE E2W AAS LUt 0/50) o=
3 ¢ =29 s} Yxleke A2? 7HM S22 HHZ BHER el A6
@ HIEZRE DIZ0IN SS AIRRICE FO| YAEZE2 APIOE SO0IRIM BHIES AMstn Holt 2
@ D|ZANZEE HIEXE Z0f6HR| UL AIS5E =sol| ARRICEL O =332 19| ERU A Mg
@ HIEZRE FE =0 NS5 SR HOFACE, 19680 =SE What a Wonderful World &
@ HIE=S Q2 0{Xis| Q7|7+ Lt G=9| LSS REQ| 120 SHHCE
HIEZxE G=9 SHER 0|=s0AE Q7 7 HUeH
oI5| B2 AlRIS0| 159l 918 BOfIC (erisiz)
e o it o oo 1 91 29 FH2 7hg Ywe %2
4 ‘r| == E‘l—T'— u%T HALZ XETI? o] oo olIry= oot
T ORESEN @ St xix St
= U Z2o-H M @ o5} XHK Hi = @ XH;( 4= Of ‘
@ HISX HHISO| 0|22 R0 J
U=l 31 ] e S5O0 9 B oA THY R KX SoPIel 20| YAES
= - =T 5t 0lo7|o|ck
@ HIERT} SlittE 0lR= 22U o '
0] 20IM= HIEXT} 19700 shALZIQICH= 240 Qlm, af 2 20| YAESR oftjolM EFTIS iR=T1?
A=l 0[20] CHEHME SZE|X| UQtTt DAL @ w8 @ F22/KA @ HH
20| YAEZS E45IDE BF T AFKIOIN £ I 2
2|H{2RE E2T 222 Qi)
€Y American people were very fond of the group. 3 % 29 U8 Lxlst= A2?
*be fond of ~ : ~= Z0I5iCk @ F0| YAESES AZHI0|A] ERO{SICE
- @ 20| YrEES SorMBstmO| Chirt
@Y Their influence on pop culture was huge. i
e G o § ] BT @ 20| YAEZS Z2 F20iM SAS =SUCt
. - OO
@ 0| YAESO| AT} 2] AEIUS ZEIUCE

Answer Key
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@Y Louis Armstrong was one of the most
popular jazz musicians in history.
cone of the + Zl&ig + SBAL ~ 1 71F ~3t

&9 sttt

€ Louis Armstrong was born in New Orleans in
1901.
*be born : EJO{LiCt

@G Helearned how to play the cornet.

= ==

*learn how to : ~ot= HS HIRCH

Unit 2. Movie

Vocabulary Preview p.45
A 1. disagree 2. whisker 3. award
4. magic 5. witch 6. heroine
7. hobby 8. visitor 9. broom
10. quarter

B 1.a 2d 3.c¢c 4b b5.e

& oy
magic 0f& disagree gthaiCt
hobby F0| visitor &4t

quarter 422/ 1 whisker +%

award 4 heroine 5218
broom BIXt= witch 0t
brave 4t win &2 EfCt

Answer Key

=== o]

popular 27| U= smart 5ot
spirit &3, 28, g4
Reading 1 p.bb

1.0 2.0 3.@ 4.3

Visualize the Text

(1) brave (2) quarter

(3) good-looking (4) smart
=
3t H= A2 Mt 71 E0fske Folguct T2l H (6l
2| ZEDVL 7ty 28t P2t AZgiLct et slielvt 1A
S Bt M2ishK|e, A ool Bithsh= AlRIS2 712
SASLICEL SHRPE 2E AR—IS2 OS5 TR Z0t6k= 0157t M2
OEUD 2= M M 2270 YWEXSHA A2 o oi2lg £
OfetLte? et SUSLICE 60 AMZHS0] X 220l ChEH
FoIELLE AUto| = NZEE ofi2l7t EZotr| 2ol 15
ZOlRICH ELICE 2|0 489 12 7t Okes EHah| 2

OHMIES| AHS2 alie|o] 27! 227t Z0f

1 =
I OEREUE, J20 o M2 ARSe! 339 ArEtol
S S

L£ESM SoFgiH 71y M2 282 18 E0els HE

EXETER]
1 ol 29 FH= 71 Yt 227
@ slizl ZEIZ Zolsks 0l9s
@ allzl ZEfo| 25t 4424
® izl ZE} 71 EE5 Asi0l 019
7

@ 32| ZE| A2I=S of 2 4 s YEs
20l szl ZEES Z0fsls o2 0IRE0) st ZAS
St & 3 Znjof chsh oloF7 |Gk QUL

(= 27l 2= mzof si2| ZEE Zotekz I2&80[Y,
(b)= oke2 oM Z0fske 2F0I0h M2t (a)= 60

& 10%2! 6EE, (b)oll= 4=22] 121 158S LIERACE

M

3 9l 20 sl ZEIS ZOH= 092 MIFER| %S 227
® SHA
=N

—

Q@ & d7M




UE 7 230| olsts A2
RIS AIZISO0| Lt SHCIT AZtsiic
@ Al O] 2l

€F Watching movies is my favorite hobby.
0] =2

+ Watching moviese & =
H, ~olz A2 22 s, SHAF F02 Z<
SAtE Hels MoF g

@& Few people disagree with me.
«few : 9l 8l=
« disagree with : ~0f BIH5ICH

@& And a quarter of the people like him because
he is good at magic.
*a quarter of : ~2| 429

o

|
*be good at : ~2 Z5iCt

Reading 2 p.48

1.0® 2.@ 3.@ 4.9

Summarize the Text

(1) the most successful animation directors
(2) The characters in his movies

(3) a witch girl in his film

(4) a big part of popular culture

‘AnswerKey

Sfote DoR7 [= MM 7Y g5st Ttet et d4= & o

FYUC, 29| FatE2 B Pl

IHEIS2 OFF |7| UG 1% ERclea ﬁi%ﬂ-lﬁ.
SO

=
E gele ASUsHH. HARE B L= A2 71717t 7FY
Z0lote o LYUUCE DiX|Ue=, DIOfA7 (9] Het (Riele
7 slohel oFelB0| AsHH, Jds 2 SIHYLCE
U9l E CHE 0152 0|1, 2= ool Soif 222 oA
o

IOFKHI et £9| FHEES2 o UisS 2=t

EEER)

1 920 NSO Jhy Yare #e?

2R A
@ ofi{mof4e] A}
ol

@ sloke DJ0FX7|2

@ D[0fR719] Q17(Qk= ?H%E1%

@ NZAO| ofL|B0|M Zt=0| Fl= &

nlokxIZ|o] Eslol S of2f 2] st EXIS @A}
st § 0|S0| thE Rsto| 2 B= 0 MmET

UL,

2 DJoFXP7 (9] ZHEE0f et o2 E21 427
@ Moro= of2F stholct
@ Totoroz E77| #ZE 7H8Ct
@ Kiki= HIXIZE Ef1 0
@ Susuwatari= 4 :
Susuwatari= d2 HX| 0|2 0lssts 228 & 20|

=

ro

3 ¢ 29 U8 Yxlek= A2?
@ San2 KikiQl &£ Lt 0|50]ct,
@ D[OFX}7 [i= OFAlOtOI AR SEHSICE
®D|0FIP |2 Fat= 2= UX 2
@ DIOFXEZ|2] oL OO FHEE] & Stte &2 FJolCh
110N H’IOI OfLImOIM (OIRT EES)0| LIQe EEE=
=0| Fgolt,

Answer Key
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2 84

&Y Hayao Miyazaki is one of the most successful

animation directors in the world.
sone of the + Mg + S+TAF: 71& ~5t -

9| ofLt

Susuwatari, a balck dust ball in the film, is a

very lovely, too.

+a balck dust ball in the film& SusuwatariE
HEHTsP| flol MY=AH Susuwatarit

SAEAY,

@EY Flying on abroom isKiki’s favorite way to travel.

o osA
* Flying on a broom2 SBAE =0 He2 &
*to travel2 20l Q= Kiki's favorite ways 3
S TSN Z2E| toREATY.
p.50

Vocabulary

A 1. favorite 2.produce 3. whisker
4. broom 5. witch

B 1.0 2.@D 3.©

C 1.award 2. disagree  3.return
4. perform 5. quarter

A 1.of 2.is 3. Listening

.afew 5. born
B 1. success --» successful

. difficulty - difficult
. Learn --» Learning

. are - is

g A WO N = N~ =

. musician --»» musicians

Making Sentence

A

1. Their influence on pop culture

2. one of the most popular jazz musicians

Answer Key

3. because he is good at magic
4. a big part of popular culture

5. Watching movies is my favorite hobby

(EXNTTE!

» Vocabulary

A 1. 71712 Wt 7k Zoteke H=IE(0ICh Lie ofE
Hrie O2%is Z0feith,

LREE 25 79| 2& Fais U=

T DRl 19| S 21

. PElE BiE| HXIE &7] ?

JdUE X =2

N N
o
A
U
rE
oA
&g
iul

B 1. 1 gxi= o1 SURCL T2 1S M A

O s28 @ Fuxe @ FXet @ =30| ==
3. 19| Fat= e YolHoln =Eaitt
@ tiget @ =5et Q@ FE8t @ gt

olojolct,

N

cawarde H b 2o ofell 2aez = Yol = 9

2 disagree= T2 AIHo|A g o|74S ZiX|ct of 9jn|

olct,

3 return2 Tof AE ROZ SOPICY of ojojolct

4. perform2 7S ¢HFSIAL S SICE of 2|ojolct,

iy

5. quarter= 'OfH Zi9| 422 1 9| oojo|ct,

» English Usage

A 1 be fond of ~ : ~2 Z0l5iCt

ol

2. Winning the first prize2 SGAFZE F0{
SAE HEQ| st 2fof S,

Ml

b

o
o
=

3, TO{YES Sl SHAF 2lok 122 Listening0] X,

=~
4 fews= 79| 8=, a fews ‘Zg UTF 9| 90|2 2

o 23 ok = 2ol a fewt 2LOFptCE

5. be born : EHO{LICH

L EBHer 9 Qnig TR F8AE S01 710k

successZ successiul2 Txo} Sict,

2. 02 02 AIF 0l2k= 2Jojo|=22 difficultyE &

ol difficult2 1x0F stk



Adgds ot AL

Learning@2 11&0F SiCt,

4. Reading The Lord of the Ring series?t 53
T S o222 SAt areE is2 IIM0f BiC,

5. It& ~8h 59| 5iLf &= (one of the + ZAF + 2=
HADZ musiciang 5321 musicians2 11M0F St

Qtof S22 Learng

HAHZ

» Making Sentence

A 1. UE=Esol 717 29| o of
2 20| YAEZRS AR JHE Q17| U= ME SO

g 27t 9
of & 0IdC,
3 422] 10| 25 Z0fst= o 27t Oks2 Esh| HEe
Lict,

slo| = u|§rg pyN[sanA s
5. Y3lS 2= 242 L] 71 Z0l5k= Fojojct

CHAPTER 3

Unit 1. Literature

Vocabulary Preview p.55
A 1.issue 2. danger 3. social
4. save 5. frequently 6. fairy
7. hero 8. tasty 9. terrible
10. event

B 1.d 2e 3a 4b 5.c

£ 0%

frequently XI5, &5, fairy 28

hero &8 tasty 2=
danger /2l issue 22, 2|
save ToiCt terrible Bt
event AR social Af=|=2l

Reading 1 p.56
1. 2.@ 3.0 4. @
Visualize the Text
(1) died  (2) candy (3) wine (4) animals

<=

HiE2 =0 o £ 572 S40| &5 SHET= AS
OILIR? AKY IR Salil= WA= WAL AH Z2 @
SAE0] LIgLICE SHXIEF @ 0l2iet AS2 e S50l Les
QISS0I EXI2E2 X, A © XSS il !les &F
gLt o =0 <“ﬁ”*£43—$>01|*1 FOIZ2 AE HoE 79
== i Uk Eot IR a0l F ololE2 A=
OESOIX TS Y&, SR F 2fe] Diid= @ 258 U0l &
OF Hoqu SHLICH 0|23 SAZ AfEdh= A2 M=z2 A0|
ofgLict a2 & & Fe olop[oilM= el 4HoIUE
LIk <2C| Mlopolld #1852 0H4Ql 2ARlS OAl S22
SRS

1 %22 FHZ 71 g2 A2?

@ O[0F7| &2 SA0| YIel 4Fol & 4 Ut
@ Ad &9 FOIZ2 Hif IX| H=C
Q@ I3 £9| A2 e 22 AS HERIC
@ o[oF7| &2 A M=z2 AXHIt OfLICY
? 22 I3t 0jopy| £2f 40| flel &Fol 2 4 U

Ctor A5k ACk

2 0= 3 % 20IM AZEX] g2 A2?

O L2 S3jollM X5 ST
@ Ent TpfEh ol ol AlEeR B ol AUTH
@ (CiMlopoilM BSE2 SA Whzol 20| EC
@ Heif A2 S3tolM el &Zo] OHRACE
29 MSFH 27K SA0| S3j0llM IRl YEol2k=
=A7F OJofX|H, SAl0] RIS Kokl Yelis 21201 8l
coz @t golct,

3 ¢ 29 2= &l £:20| onjeh= Aol e A27?

Answer Key

“AnswerKey'+

15



16

@, @ Oz 2F 342 721712 AR, @= HiZ o =
Zoll MAIE & 0f0IF S 7I2l7l= Zolct,

SAl0| 9IE0| AEO| B 4 U= LS
710l 220l

£ S0l ek

—
OEHM=R] Aot AeBZ diztfl= of

o0|7t S04710F it

@& In fact, most fairy tales show foods like tasty
fruit or candy.

e like: ~Z2 (such as)

€& However, these are not always good for the
characters in fairy tales.

*not always @ &4 ~3t 242 OtL|Ck

@EY But awitch in the house tries to eat them
later!
o try + to—v : ~of2411 OHMLt SIMCE

Reading 2 p.58

1.® 2.@ 3.® 4.0

Summarize the Text

(1) one of the most important books
(2) a young white girl

(3) because he is black

(4) the world is not fair

(5) serious issues in society

Mol S2HE flol M= ot 2|7t &2 (AFA F0[7DE &
7

M 104

LCt o] 22 ol= SAlM 71y St M5 7R2| Sy
[e]]

=

O\‘

IL 1930'EM Dj= FE0Al LojLt= 0[of7|
AFIQEZN= 0|29] B0l AHQILICE @ATIR

E= o M gXtet 277t &1, Os UE0| 249 S5 T
A

r

— O = —
oBi 0l2 220l 7kn AlRiS0l 1E BRIt EIE
0IRS Olalatx| Raict, MA0| EBHsictE 2 2| BLICH

Answer Key

@o] M2 i FHsk, Halx oI REYULCH A7IREQ)
0 OloI= °|7|7F U], st 2%z ofolel == Sal

A2l StH|IA2IS 0[0F7 |5t | Mz LT,

(EXNTTE
1 9 20l L2 (lFAH =017)of thet dFe=z S8l A=27
@ ot 2|7+ A4

Ag
40
=
i
o
= 9
rr
II
F>
im
10
Ar
mjo
om
:log
il
>
=]
Hl
>

2 % =0l ol=2lX & =
Hoi| Chet TRl LHE0] 0|04X]
o RENMof tiet LiEg=2 S04

® a ‘—WE ObFel L2 K= SFR| Ut
@ 1 Xi= RIS ZO0I5HA| 2RUCH
E Ql

oF g7t &eloj2k= o0lf=2 7*20“ 7t AHS0lA Al

Sofl, 1 gAk= O L2 HSE SiX| Ut

ARBIA SRl =22l 2hs Qojo|sg, Z2A 2k= £

| problems?t 7F& Hlz5F HO{0|CH,

@& This is one of the most important books in

American history.
cone of the + ZXF + S4LBAL ~ 1 7HE ~ot
&9l ottt

€@ The story takes place in the American South
during the 1930s.

*take place : (M S0) ofLiCt LA5iCH

)

@& The main character is a young white girl,
Scout.
- S0K )= 5248 UELE= 222 a young white

girlat Scout= SZEAIY,



Unit 2. Psychology

Vocabulary Preview p.61

A 1. psychic 2. reaction 3. palm
4. guess 5. trick 6. aquarium
7. caretaker  8.national 9. prediction
10. personality

B 1.a 2b 3d 4c b5.e

& oy

reaction £t& palm &5t

guess =ZolCf, &% personality &2, °14
trick &2, &t psychic 0l[217} aIFEAL
aquarium &2 caretaker £2[¢!
prediction 0il%, of¢t national =7t2|, Z=XQ!
pretend ~2! &aiCt fortune 2 &
actually &= correct &=ret

match Z7|, AlE

Reading 1 p.62
1.@ 2.Q 3. 4.0
Visualize the Text
(1) Hot (2) Cold
(3) something (4) nothing

<=0

ZY0I=0] 0j2hE ofI=cks dlolle + 7R Qe Yol g
Lk ofHols2 gt 2lg & guch & 2lge FHopt gl
of thet R 7HK| AFES 0j0] €2 e WE ZEUCEL @ 0f
o Aoz gilof et ThE XSS 27l == A0l g, Ze
02iE of= A of= A= g&UCL © OE FYoIs2 3=
2lg' 2 gUth © of FH0IS2 DIKE olIS517| flah A
0f &32 sUCh @ 2= 2Soii= Fdolzt Aol s

Ol A0 st SigUC Iz gl 40|t 2ol thaiA
FEE gUo d= 29 HEE YA Amla, 4o
et Abd & JIKIE ZordiLnt, T2lne J= & o FAAel
52 YU O] ARI00 AYE she At ZRIe! =dct
AL, 0] & & 2% GAls £007] 2fet 7|2et £+ Lct

“«AnswerKey

EEET)

1

9l 29| 2X|z I sk 227

@ o FHolS=2 2E 292 oIt
@ URES MHE2 HH0IES UX| =rh
Q@ HHoIE2 U2

@ FYolz2 £ 2ldojut &

9 22 HMOISO| DS 05 1 F= A5 & 2l
1} 2C 2igof Bieh A Ut

2C g of Bet Moz gL 27

@ FA0l= 0| chah 0lo] L ek

@ FAol= DS 0IE31| s FhIo| 2UBS =t

@ HOl= TAIO| HISS INAR| ATICH

@ FROI= (20f Cheh AR XIMS Te= it

SC 2/ oM FH0E DHof thet AR XIA0| 2o
DHO| B2 FAARA| AulpiA 0| Tt 3 JhR| At
A2 QOlHD J2|T L THIRRI 252 sirt

9 29| Uit YRIBHT| e 227

@ HAHOISS 2 JHx| 7|et SULE AKZSiTt

@ HAOISS FE 7| sf L £ 27t

@ F52 3= 22 2C 2lgol Ysolcy

@ (22450) HI20| HAOISS Qs F7I= it
HAOIS0| DIHE HA & 1f Y2 2 K7sk=X0f st
otge it

20| 551 AR 2327
@2H0IME= 0] 29| 7I9I=91 Hol 9 ‘fef 7t AR
x|t St 2t BE 2lgo| KoY MY 20 551

@& This way, it is easy to learn about other

71504
things and pretend to know your future.
ZI01
* It2 to~ O[S tidlske 715012,

« pretend to : ~Q1 A5t

€Y He makes guesses about your personality or

your life.

*make a guess : F=ofCt

Answer Key
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@& He carefully watches your reactions and he
finds out a few facts about you.
+find out : ~2 LOHHCH

@EY 1ts like a game of Twenty Questions!
s like : ~QF 20|~ H|5t

Reading 2 p.64

1.0 2.@ 3.9 4.Q

Summarize the Text

(1) a psychic octopus

(2) During the 2010 World Cup
(3) food and a national flag

(4) chose one of the two

(5) won their match

<=0

HHZ2 AMHSO0| o7t 2047} ATt Loks A S0E A
0] ALR? @XZ0l= A HAZO2t 1 MZRIt=0|, AM=
ofei7h 2017 ACRINR! D E2 MHE2 ARIS0| HB=At
2M SEE10lop/| & 4 ok gt ©39] 0152 20|
1 O =YUO| ot &0 AUBUCL @S2 2010 =Y
S Heret == HOIRMSUCH ofEA ofels SiE et
27 19| He[Qlo] oA F dXE s 2 dXtols €
= BFY S40] S0 AMBBHCE a2 2 YXjoll= sitel
=717t 201 JAUSULCEL 22 8 YRS St 3 dAt el 34
= HAsHCL 2E Z20f, S0[ MEet L2t 12 F7IE 0l
gL 0% 3lehsirle, 2ZX] L7

SR
1 9 20 SHa%

40
my
10

>
=
rr
N
1=
(@)
i
1o

SZoIM AYQ STHE ofletet

HO

ofolct,

2 Paul2 O YEO=Z 0fXls =717

Answer Key

@ 57 A48 123t

Q CI2 Yaloz 235 it

@ T YAt S B A £ SAlE HUC

Z2 2 572 SA0| SRUE F A S0IM o dXE
a1

=

3 & 20l it Lgez UX[GHK| Y= A2?
@ Paul2 Sof| AUC

@ Paulo] AME45H Eo| Tl M= U},

Q@ 2t dxioll= =717F 201 UAACH
At 2ol F AU
t

¢ 29| 0IX| 220ilM 2E 0l 20[ MEtfet L2k &

71E 0|70t =0T,

@ Many people say they can talk to animals as
a psychic.
cas 1 ~E(N)

@ In every case, the nation[that Paul chose]
won their match! 01 [S% 2AISAE]
SAt
«that@2 Paul0| MEKRIE of ojn|2 M3UA} the

—
nations Alohs SX2 ZAHEAEY,

@ 1t's strange, isn’tit?
< SIR7F AMO[2t T MZish= HEE SRlshr| ¢
ofl AIZE 27I0I2=

« 2UIOIEE A 20 + SAL ZSAHbe, have,

can, etc) + ™K, you, it, etc)?

ol

LN = By

p.66

Vocabulary

A 1. national
4. tasty

2. pretend 3. symbol

5. frequently



B 1.® 2.3 3.®

C 1.issue 2.reaction 3. prediction
4. trick 5. fairy

A 1.doyou 2.wasn'tit  3.like

4.not always 5. during
B 1.don’t--»doesn’t

2.Jason - he

3. Germany - German

4. is - are

5. leader - leaders

Making Sentence

A 1. not always good for the characters
2. one of the most important books
3. clever tricks to fool you
4. the nation that Paul chose

5. it talks about social issues

(EXETE)

» Vocabulary

A 1. = si=0] SR0IM J4 0lSCte 27t0) oozt
Mzt
2. 0ft 0f0IS2 Stmofl 7hn AlK| 942 1 O A2 Birt
3 =2 BEio| ARolct
4 250 DRk ASHZ U
5. Li= MS X AKIRE 50| Rl ere=ch
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C 1. issueE B AE|O] AMRIE0| S JIXlE o 2 ©f
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ojolct,
3. prediction2 ‘OJ2H0i| CHEH A& 9| ojojolct,
4 trick2 FZ7tE £017| flal sl A 2f 2jplo|ct,
‘ordel &lo| Q= E0|22 MBH

5. fairy= [ o ofojoc}

» English Usage
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» Making Sentence
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CHAPTER 4

Social Studies

Unit 1. Volunteer

Vocabulary Preview p.71

A 1.cheap 2. storm 3. volunteer
4.lesson 5. community 6. important
7. unfair 8. destroy 9. habitat
10. across

B 1.d 2e 3a 4c 5.b

£ o3|
volunteer AFHSARL SAfGHCH

important &5t

community A|FAZ]
unfair 25%st
lesson =
habitat HFX|
storm =&, =%
build It

humanity 215, eIzt
o

destroy mhlsiCH

cheap ¥

across ~ZAH(0f Zx
educate W=siCt 7t2X|Ct
free XIR=2

own XHIQ| ARSICH

Reading 1 p.72

1.0 2.@ 3.0 4.©®

Visualize the Text
(1) community (2) after

(3) Saturdays (4) education
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OIS SiAl
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@ sSe BAESY| (P72 $e 2 wert
@ SUSS BABSOR XIYAIE B US dirt
@ 2AESOE BUS FAG|E Birt
SAEE0| Upt2 £2 W) et
4 9 29 thisoll st LIgo= 71 are %27
D EQU0| BAESS 80F 5t 2
@ stS0| xAEIE B 2
@ SAIESS 311 £2 Wil 23t 2
@ BAESS 0% nES A0t 2
thisi= HI2 o M0 L2 SHS0| Wit $Lt E20| 2

@& The students have to do some work to help
their community.
*have to : ~aHofzt St
+to helpe ~& 57| 2lal o 9o|2 SXS Lt

L= FAN SOl o EAE.



@ It teaches the students to be good people.
«teach + =XO0I(AE) + SXEHO{(IoREAN « ~
7t B2 7I2X|CH

@& [talso makes their community a better place

to live in.
|

*make + X0 + SHE0N : ~2 2ot Tt
=t

.
—

o live in2 A0l LI2 a better placeE RHF
= SZAA B toRHATO0IH, live In2 (S
Al + FRIADE OIR0IZ SAEE ing 2 X|

== FolsloF .

Reading 2 p.74

1.® 2.9 3.3 4.0

Summarize the Text

(1) Habitat for Humanity

(2) who do not have them

(3) built more than 500,000 houses

(4) money from many sources
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of AL 01 AIRFES &1 AofBich AlFel A7 = X1

SAHEAOIL, OS2 TMAIC] A—FES flch e Herh A

gol & Al= 19760 AR 1976E9RE O5
A X

500,000%H of&e] &2 ™ MIAI0f XA
2 Re2HH Xggs el B2 L2HS0| S04 7188

2 WD, U2 Best AFER JA Sit
Ael & B0t ol AlME 2fell TE XIg W, I A2 Xt
Alo] 22 Xl= 712 oo} SHC} Est 1 Fle 2=} OFL| K|t
Cl2 ZSof| il &AW M5 ARe| & Al7l= 7 ASx2
2H 22 =2 ¢ E2 T2 Ne o AEsi

‘AnswerKey

CEEER)

1 9l 29 H2o= Ji e %7
@ 41 @ ¥ HZ B Y
@ =AEH BiST| @ A
o 22 M APIEoR Jist ARSI HS KlofFs t

LA Habitat for Humanity of thgt 20|ct,

2 ‘Habitat for Humanity' 2] X2 29101717
@ &g X =2 Hol v A

@ Mstoll cHHISI EE8 T2 K= A

=
@ oy Liztof e Al
Habitat for Humanity' 2| 242 %
=

=)
=
ez He 2 AlREs =2 = Ao|ot,

3 Habitat for Humanity 0f CHst dHo = E21 2427
@ KrESAH HAOICH
@ 1976101 A[RZHCY,
@ 2dolAl XIS =Lt
@ ™ MAXSZ 500,000 0|&e] &g
Habitat for Humanity' 2 02{ Zo2EH X228 2=

O, B2 L2tsa Bret ARMS0| 71R5S Ht,

4 92 free®t ol0l7} 7K Blast 227
® P20 @ AR @ HIOU= @ MBS 22
OI7IM frees RO REACl = o2 Unpaid 9
oI} 7K ALY

€@ They do not have enough money to buy a
house.
« enough + AL + to—v : ~5t7|0f] S25t

@ Many countries give money to them, and so
do many rich people.
* AOlM BF o Ciall ~&= LB 2 2k 2o
2 (s0 + SAt + FOPIH MY 40| beSAO|H
(besA + F01), 0| LRISAO|H (doldoes,
did] + 0H &,
@I Also, the house is not free, but it is much

cheaper than other houses.

of

«much, still, even, far S0| Hlug ol 2H =

B o ~3f Ofte olnjz Mgy

Answer Key
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Unit 2. Capital City EXER)

1 Se0] Cfet Mo 2 2427

Vocabulary Preview p.77 @® 3 LietollM 7He 2 A
@ 3 Lol TF fESE A
A 1.special 2. burn 3. capital @ 71 LtzlolA 71 ol20H EA|
4. visit 5. fight 6. imagine @ 1 Uete] MEJt Q= A
7. rest 8. president 9. against ez O Lake] 81 s EAI0H Z2hM TR SRat
10. government 71 Sict,
B 1.a 2.d 3c¢c 4b 5.e 2 URE9 =F7H50| =5 OIEEY dl2le olfz 7H &
e A2?
@ st F27120| 47| iz
& o9 @ S&1t oll=AlE0] 2ol U7 w0l
government &5 capital & @ =0 ARKS0| 74E 20| A | THS0f
visit 2251t rest (OfH 242) Lfo{x] ® WSSO = LI FHe] OIS = 4 ol7] Do)
special EE tmagine SESit ARIS0| TR LialS Wes o), BE 450 7j0f A5
fight M<Ct president ths3 S0 1 Lizio] Linix| X|,0401| et LIS & & o)
burn Ei<CH against ~0f A B ToEE T oM
usually 25, th7| probably ot} L2l iR el =71S0] =S OFSEA H0leial it
finally OFEILY nation =7} 3 % 29 L8 URIGEIK] Y= A2
finish DFX|CE ZLUHCH ® 2 270l =7t ot
@ 2I0k== AFRL| of2iH[ote] 4~E0]Ct,
. @ e Y 2 LigfollM 7He Z Z=AJ0ICE
Reading 1 p.78 i
@ ANFS0| OHE U2t YaY o B8 =0 7tk
1.@ 2.@ 3.3 4 @ SETF e O LRfoM JFY 2 AR OfLCt,

Visualize the Text 4 128l inemol IRzl 2=
DANHE @225 @ HE @ FRE
() government (2) biggest theme 20 812 o 220 LI2 AlZS(people)2 7k
(3) Visitors (4) country (5) beautiful J1= ZH0|ct
=D
BE Tls AETolth 2IADRE AE7F @ATHl0|CH TRA @Y Every country has a capital city.
= T2(0It, AISC] ORIHIOIME 210FE0[C) 2E7 B4 1 DSvey R BAL S SN S5, =R
Lizfol A 7+ 2 A= OFLXIRE LMoz JHY SQ06 A @& So, most countries want their capital to be
OCt 1 0|RE (T Uete)) &It +=0] Q7| H20|ct, very beautiful. 2xo] SO
AZEO| CIE Li2tES YURE i, 152 25 =0 2ttt & cwant + 20| + 2L (toB™AD : ~T} -5t
C= J2S0A 1 Li2ke] LIHX] SR(XIS)ofl thet =2E Frt 7|2 sict

In
ro -

Ot Lifol] SIE! =7t QUED a2t 23, =2

=
@ Every capital has something special to enjoy.
OJ0l= 11 LiZIS ZO0RMIl 2 oIt TN, o] TS e =
L JE9 & LAXt5| 0F2L | HI2IC [
= 1501 L SRl OISHE S0IE B, EOlAE of - Ihingo= BLI= L2 HEAP} F0IN 05
SCte =1 tles = 4 Uoh =22 MAuME 285 &
«to enjoy= A0l L= something specialZ
Y2 B2 4 9l0f BE 4EE B2 4 U= Sst [oUIS
- - SIRAH 20| toE XA
7|-X|ﬂ %UZI_ ‘I‘_ oo [SX= T o =

Answer Key



Reading 2 p.80

1.@® 2.0 3.3 4 @

Summarize the Text

(1) the capital of the United States

(2) chosen by America’s first president
(3) all states satisfied

(4) burned the capital city

(5) rebuilt the capital

0129 A= A4S D.COITL T2iLf NS T B4 AR
S OILIYCIE S YT YR HES| Szt TaiLmjory
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«uuw Answer Key
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@& But did you know that this was not always

true?
+not always : BIEA[ZA] ~of 242 OfL|Ct

52¥ As anew nation, the United States needed

a way to make all the states happy.
T ]

cas: ~2N

+to make 0lgk= 0| /= a wayE FHIE= &
SAN EHOl toRHAY,

*make + =X0] + SHE0 1 ~2 -
=Lt

-2[ofA] 2

@ 1t tookyears to build the new capital.
« It takes + (AR) + ARRF + to-v @ (57 ~6k=
ol -2l AlZto] SCt

Unit 3. Ice Age

Vocabulary Preview p.83
A 1.age 2. alone 3. weigh
4. giant 5. cave 6. northern
7. cold 8. weather 9. warm
10. peace

B 1.b 2.a 3.d 4c b5.e

Answer Key
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% oy

northern & cold &2

age AlCH, Al7], LtO]

Zof xlet S22

weather M|

cave = weigh SA7t ~Li7tC
alone =Xt warm [CHst

giant 7{Cifef, A2l peace Ea}

cross ACk last OFX|Rte]

place &4
need (~2) R ofcf

terrible Z%/et Aot

Reading 1 p.84
1.® 2.@ 3.@ 4O
Visualize the Text
(1) ice (2) people (3) bridge
(4) south (5) people
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2 lce Age Of ARIS0| SISUE JHE 2 0lf=7?
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YotAltol= S=8 5401 7| Tzl AFat S=5

Answer Key

SF0IA o2 A7 IR,
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x| 2fAlofoll M =0]2t HO|tHE22 0S8l S0
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@ Ofx[e} Watz| ofF
@ Ofx[e} sl | ot
® Ofx[e} Wal Pt of 2 &
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2 ct,
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@ 1twas a very hard time for both people and
animals.
*both A and B : A2t B = Ct

@& There was not a lot of food.
* There + beaAH not + 01 : ~0| Gt

@ Atthe end of the ice age, there were people
in all parts of North and South America.
* At the end of ~ : ~9| 20|, ~7} 2 2F

Reading 2 p.86

1.0 2. 3.0 4 @

Summarize the Text
(1) fought bears for caves
(2) needed for shelter

(3) bigger than today

(4) in fights with the bears
(5) the Earth got warmer
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‘AnswerKey

&= =20l MgE2 2 g
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@ Wol7| Aol @52 7157

XIF7F B MM IRt Sake] MBollM 0fxich=
LhEat Aot 552 WEEst 7|1S0lA Aok 4~ giRic=
Lige Soll 7127t HalHM S50| BEUES & 4 Ut
@ 1t was a war between people and bears.
* between A and B : A2t B ALO|0f|
The bears of the ice age were much bigger
than any bear today.
*muche Hligs Z&std g o ~3F 9l 9f
0/,
«Hlug + than + any (other) + EBAH: T2

OffHl ~HICteE of -3t

@& Killing the bears was hard for the humans.

201 SAt

+ Killing the bears= SATE 0 He2 2
Unit 4. Archeology
Vocabulary Preview p.89
A 1.huge 2. temple 3. century
4. ancient 5. famous 6. mystery
7. region 8. emperor  9.island
10. face
B 1.a 2c¢ 3d 4b b5.e
& oy

century Al7|, 100 ancient 1Ci{9]
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emperor K| island
huge 7chigt

face ~= &5iCt

attack S5t

mystery 77|, 0|AE2]
temple A
warrior TAf
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heavy #712

Answer Key
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Reading 1 p.90
1.0 2.@ 3.3 4.3
Visualize the Text
(1) Peru (2) Mexico (3) city
(4) warriors  (5) Spanish (6) Spanish
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Answer Key

@& The Incas are famous for their city, Machu
Picchu.

* be famous for : ~2 SEGICt

@&F Getting up there is very difficult because it is
701 SA
high in the mountains.

* Getting up theree= SBARLE F0{ S22 &

@& Their buildings and temples look like
pyramids.
*look like : ~X& £0|ct

Reading 2 p.92

1.© 2.@ 3.® 4.3

Summarize the Text
(1) huge stone heads

(2) they are big and heavy
(3) how they were built

(4) tore them all down
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AnswerKey

Cl, 252 200IZ 2 20| aRE 2F of=0 R, 25
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p.94
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b otre 7o .
T % 8 M=eR 7k 2582 227 A 1.owner 2. faces 3. unfair
MNi7el o|AEZ 20}0] AfAfO| O|AE{2
@O MAIQ] o|AEz2| @ =010] A4fo] DJAEZ] 4. cross 5. destroyed
@ MIAIOIM 7he 2 Ay @ mleto|=et AZIA
© ~ - ) B 1.® 2.Q 3.0
Q| 22 0|AECl =Oto| AMelof cHet OjAE2|of Chsl Of )
ob7 5k 9ICt C 1.volunteer 2.mystery 3. capital
4, cave 5. ancient
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@ EfE0ll U= 22 o @ O|AHE &EH AHS
Q@ mlztol=e| 57 @ Aot AME
Moait= OJAERON QUi HCHE! AN 2BICt o b 2. for 3. like
4.to go 5. sweeter
3 ¢ 29 U8u X6 Y= X7
e B 1.wear - wears
@ Moaioll Chall B2 20| 2fA Tt ,
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® OAE{MOl= Moaizt 50074 0141, 3. goes usually - usually goes
@ Moai= HICHE &foar U 4. money enough -+ enough money
Moaioll CHEH 42 20| L2dx QUX| L1 6i&5| O|AEZICE 5. special something --» something special
4 O|AEHO| ARFEE MoalE BHE R0l A =71 :
@O A7 I0IM AATE @ TEIS 3k,
B 1712 5120 HECE @) MS mict A 1. much cheaper than other houses
2 2 oK AM—E0] MoaiE PhE = 25 SIZ20{HR 2. the students to be good people
T 3% FA| ELFH oJ2%ol2tn Fct, 3. not always the biggest city
4. a time of very cold weather
5. Getting up there is very difficult
@ But not many people know about the Moai
on Easter Island. EEER)
*not many : BHX| &2 » Vocabulary
EY We know almost nothing about them. A 1. 0| o2t Xfo| =012 L1011 pf?
« almost nothing : 79| ~4ct 2 22| F2 g% gotu ot
= 2oms 57} Lt
@Y This is because each head is very big and 3. L= ESE8 R0l 27t R
heavy. 4 2= g mf Z=afohiet
«This is ~ : 0|72 H}2 ~0|7| LH20|c} 5 Xl & EH0I=7t 49| RE 24300
= . ~ 421 X =
@&y After they built the Moai, the people of Easter B 1. Li= oot w=0i 3~4ed Fe ni2 Ao|ct
Island tore them all down. Dotot @ thFz @ HEA @ FE|
_ = HS JlEx|= 71 2I%| oo}
CEA+ EARR ® SAIO| 2X0{7} AL [T @O &4 sitt @ 7I=XIL @ £EHoIt @ ZFSICh
A 2R S 2 3. 19| Gl ARIS0| EF XIHIE SASICE,

Sttt @ Yolsttt @ TS OIRILt @ STl

Answer Key
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. volunteer= ‘=2 2| 21 YS sh= AR 2l Qjojo|ck,
. mystery= “&E5ILt Ofstish | &= £217F 2| 2jojo]ck.
. capital2 1 Ligte] HEIt U= SR5 Al 9] ojnjoct,
caves ‘2E0|Lt Holl Lt U= Z =2 2Jpjo]ct,

. ancient= 01 @2E OFF 8SeF ZANchRIE 2| 2

ojojct,

OGN W N =

» English Usage

A 1. both Aand B: A2 B S C}
2. be famous for : ~2 SHGICH
3. look like : ~Xg 2olct
4 It takes + (A=) + A2+ to-v @ (70 ~ok=d] -2
AlZto] SCt
5. H|uz + than + any (other) + TEAF: T2 E ~
HotE of -t

B 1. Every Ci20lE T4SAUt LiQOF G222, wearZ

wearsz X0} St

2. Not many XAlofl ‘ZX| 42 o 259| ojo|7t ooz
don’t knowZS knowz= Ix{0f St

3 usuallyet #2 HIERA=E LEtESA ol 282
usually goes2 1x0f SiCh

4 ~shlofl Z28F S 2nlsk= (enough + EAF + to-v)
T=0|22 money enoughZ enough money= 114
OF efct,

5 —thingez Zli= U2 SSAVL FolA FHFEE
special something= something special2 IX{0F ottt

» Making Sentence

A 1 1 F2 227} ORI T2 FSOf HisH BN MEsict
2 O712 ShS0| E2 AMEo| E 4 =S Ji=3I0
3 E7F el O L2t TR 2 EAR! A2 OfLC:
4 st/ |= 7|27t 01 XVHRE AZ7|0[C,
5 32 A0 IX|thol7] mizoll ax0l E2E A2
i SISCh

Answer Key

Science

Unit 1. Science Knowledge

Vocabulary Preview

A 1.stand 2. thin 3.less
4. wonder 5. feather 6. cover
7. swamp 8. desert 9. space
10. clothes

B 1.b 2.d 3.a 4.e 5.¢

£ o3|

feather 2= cover ECt
swamp & stand Af RACH ACt
thin &2, 7t= desert At2}

wonder Szoli5Hct
clothes £, 2%
strange 0|45t
flow 20, 2247t

easily &7

Reading 1 p.100

1.@ 2.2 3.9 4.0

space 37t
less § &2
wet X2

entire MxQ| =

Visualize the Text

(1) wet (2) heat (3) one (4) lose
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‘AnswerKey

22 A UsHCH o] PHo2 U2 S5 9UX| 5L T
cold.
EEER) ¢ like : V2
1 ¢ 29 M=oz 7HE Ao A2? e get + SFEAL: (~AEIZE =T
@ =fo| HOLIX| 2h= Ol
@ =il 71 22 Ha
@ sto| of t2|2 M Q= 0lf
80| & Clel2 ARIS 0198 A2t o/t e 2o 3@ 40
2 9 Zo| LRI Y|t HS? Summarize the Text
@ 32 ciajof| zl=o] Qlct (1) a lot of sunlight
@ SIS A%} S0 AL} (2) cover their entire body
@ =2 21712 ©7| =l o Chiel2 M =Lt (3) lots of clothes
@ stel JlZe 159| 55 E=ofk| Reitt, (4) between the skin and cloth
2 g2 g wiotd & U= EX ZAoIM A7| o]
of 2|2 MM H2e A= e 2010k
3 922 ot £ U RO= T MAet A7 ﬁggg 2101 901,
@Y7l @ &0 @ UK @ FATIAL o4} 17 20]LI, OHOF?
0] 22 S=0|ut Kot A ntst ZX(off 7IxHE & U= 010 S TVOIA AfSH LIl Ale A[RIES wiplp S
=0l DF B2 22 21 A0, SFX|PH AJSRE MU EHH0Ie.
4 %1 2o] well-knownzt 207} 71 Blet 227 ISS P Afsl7| U RS XAl LOIOF BRI ULIR?
@ & LXK 22 @ |get Aok 2M|, O e|UoME £2 MZ0IZI5LE SERIZE A
@ o5tk @ Mp|U= giofl= SHEO| LS Blof 2N AlREE2 152 & A
well-known2 & 2AZl 0l2k= 90|12 P famouset Z Jt2jof SHX| JX| UoH 152 SAS m A
oln|7t 7Heh ISt OFF £7t 01,
Ofof: SRt 11 H2 RES 58 G SHX| ELK?
Aok W7t dzksk=s CE2 OfLRITH RE2 159 58 7ie
€@ Cranes are very well-known for standing on 1 OjRet R Afojof S717F S5 2et S7H0] 2A01. 01A
one leg. O AMRtO| AIHESE Alotl off FETH,

« well-known for : ~92 A %I
+stand on one leg : gt CIZ|2 AMCH

(EXETED!

1 & et X2 7Hy U522 A2?
@Y Feathers cover cranes from head to toe to @ AjSto| ARIES 22 10| Opdo} SiCt
keep their bodies warm in cold weather. @ ATo| AHES 4 Lz S7Ic)
=H0L =Ee @ Alotel NRISS B2t R0R ¥ AL
*fo keep HX[SH| SioHAf o SN2 SN2 @ ABto] ARSS oz 2 B 2ol HET
LIEHHS= EAPK REHO| 1o o] B )
RIS A e ieeeaTa 9| cHstolf 2A0p OfZI0joiA DA} SHe X2 S
c = =X S A AR o
keep + =X0] + EXE0] : ~2 -dEHZ RX| 2 AfSlolM= s Re2 F9 B2 Aldick= Zolct
SICH
2 2| tistel Lt YRISHK| Y= A2?
€Y Moreover, they usually live in wet places like @ AZoIA Sl 9O mjEs wssi)
lakes and swamps, and the water can get really @ AfBloJA Ql= 22 3 x| QH=Ct

Answer Key
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1, M2e [ fAleiths el tistolct,

3 AlFolM 22 B0| ol= EX| ¥ Olf= FAU7N?
@ AT A= R0| BFSOZEICY,
@ 29| Ax7t 7HEHCE
@ Aol A= ARFEE E®lofl = ATt
@ TP} R Af0|9] S7H0| AIEGHA| shzC

2= 2ol 7] tizZof TRt 2 Al S717t =8 2
of St AL 00| AlHSHA| shiECh 22 R2 BO)
Yoi= EA| 42 Aol

4 LE T ZHE Soll FEY o+ U= A2?
@ Hotet o010l B2 2= Yoiof sitt,
@ Hotet 0t0l= AIHOIA &X| =Ct
@ Hotet otol= HiolM 2 AlFS 2R S4=Ct,
@ Ofol= CHE LiZtE HZstn ~ofeitt,
M, 27 R2luloiMs E2 W01 2ls BES
Sofl Hofet 0lol= Alfof AX| t=lis MdE 75
UL,

@&J Shouldn’t they wear less clothing to cool
down?
* OIEATL Sl ASALS| OIERO| AAE= (ESAL
+ 0 + SAHRE ~ 7
+1o cool down2 ‘B2 Al5|7| A o 2|2
4

SHS LIELs SAN 880 oS ARY,

@Y Or they will get burned and sick very easily.
* get burned : SIS QlCt

@ The clothes cover their bodies, and there is
space[between the skin and cloth] for air to
- Hureiic ie

\
flow.

» between A and B : A2 B AtO
«for air to flowe B7[7t 2206t 9| ojn|= &
0l L= spaces FHEH, for aire to flowe

olnlael F0ie

2

Answer Key

Unit 2. Astronomy

Vocabulary Preview p.105

A 1.already 2. believe 3.research
4. dead 5. universe 6. religion
7. punish 8. article 9. magazine
10. Pope

B 1.b 2e 3.¢ 4.a 5.d

& ofy

universe 25 Pope w&

believe 2Ct religion 311
research 'sict
article 7|\ 2
magazine TX|
reach ~0il 0|=2c}
project LEXE

punish HFCF
already 0[0], 'Hid
dead &2
complete 2=alct
mean 2/0|5HCf

right 22, St

Reading 1 p.106

1.0 2.0 3.9 4.9

Visualize the Text
(2) Earth

(4) gave

(1) sun

(3) moving

SRAI2E ek T7t S5t0]| 2o MS & Aol tish He UWRE
Lich w2 ZE0A 29| o St &8s wUR| = A
2 FASLICL T2l ZEe|e= ARIe| SIS ZI(6H0F &



Lct, ot 254 P2lE THEUFTARL A SUC

o
| — o
= A2 gu AXIR

(EXETE)
1 ¢ 20l M= IH=UFAS 52 2A0IU=II?
O XI7-= SH0IX] gh=Lr
@ EHYO| XIF1e| 8|2 =Lt
@ X7t EfS RIS =L,
@ X7t 20| SHolct,
THELFTAE EfY0| 272 S+0|22 X727} Bt F9IE

=0t 2t

2 RS2 of Zm2URA0] M2 B0 SIRH=7H?
@ Emofl iste 20127| Th2of
@ e 9iste 201%17] TEof
® 2= TEAP} ORI | ThEof
@ @E0| 22 B0f5Hx U | T2
S AlRISS AHELRACl M2I2 Fmo| eisks Zojet
T M| 0] Z0FSHR] Ut
3 Z2os Aol GiTlof B MS T 5 OfHF WS
HIOK=T17
@ OIS =0l ELjoF T
@ oM =0F F2 1 4 YT
® 2 ELf T Sotex| 23
@ CHAls B2 MojLt IS 8 4 ot
Z0| Su=o] mYo| R0 12| oM SO 7 ¥

@Y Hundreds of years ago, people thought the

sun traveled around the Earth.

s travel around : ~3QE =Ct

@G They thought it was against their religion.
« against : ~0f Bithsk=

‘AnswerKey

@ But the Pope punished him for writing about
his study.
s punish + A2+ for ~ : ~0f CHaH -0l A &S
Lt
@& And Galileo had to give up his work.
*have to : ~aloFgt SICF o o|o|2, 1fHE Ligt
4 = had toS AISE

* give up : Z7|alct

Reading 2 p.108

1.® 2.0 3.9 4.0

Summarize the Text
(1) very far from Earth
(2) they are already dead
(3) may not be dead

(4) for millions of years

(5) just thousands of years

Rl

= 2 el Z2HES Azo/| Pl E= Aot AUNHR
Me =2 2300 tish O 21 AU, oksoll © U= URE
o E50| FACHL SAMER. o TR 0N AlRS0] &
o712 €52 AH0IM OHe O slie. T2 HEO| 010
Exfo{H <df Zdeltie BHS0| K70 =27 o, 1 85
2 0/0] =2 72, SiX|2h oSt YXojM S0l=22 7IME &
AR, 2 7IAlof = o™ ES52| 50| X5l =2f6h= o
= T 2 H0| 2R, (A2, E52 2T HE dx
0 0|42 (o)t 25 = 1 aAS0| =X| §UsS

220l= =K ?foh Zofl tish SFof AT
20l= SHE fsh Eofl tisl S+tste A2 220l &

Answer Key
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2 ARHE0| shs0l M s tiREe E

L olge?

O RE| E50| Rt = THoj| =317 =0l
@ EH0| X720 =Afoh= o 2 APJOI 74EI7| =0l
‘=l|

@ ol =2 =il LHE
@ 29| 20| O|TxY ¢
HE0| x50l =AfSk #'E*
Of XI720f =22 mf 11 EE2 0[0] R2 02t A42Rict

3?2298zt (a)of S0i2 HZ0= TrE HES 427
@I 21 @olE ¥ @ A2 @EHﬁ|
E20| X0l =2f617 (7K

K=
[ =
=0 ojo] == *OIEH'_ %”iﬂﬂ”& Z250] #“HE'J =

O ofd 252 220f %ECXiEk
t

—
I EsE 2 I A2 K| EUAS = UCL

<apy
® tiso] Ueo xiRaRe T2| Hx| Yot

NS ARISS o= £ WS 2 4 gt
HIZ HS0| XIF0l =X[617|PiR| 48 Ho| HajE Hs0| &
BiDF 142 Ab| 20, 927} WS 2 o 1 Hs0| ofx &
x| 9;%% ZH5H0l £BE o 4 Uk Wl S84 mayE

Q,E
e
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Ral
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oz
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oh
=

@Y 1was researching stars to complete a big
science project.
«to complete : 2A=Z5P7| QeiA 2| ooz =2
= LEHU= toR =R

@& People say that stars are very far from Earth.
« far from ~ @ ~0flA H2|(0f)

BEY According to the article, it takes some stars’
light just thousands of years to reach Earth!
A Al to-v
« according to + AL : ~0f =™
« It takes + (A) + AlZt + to-v [= It takes + Algt
+ for 282 + to—v] : A7} ~5ked| -9 Alzt
ol SCf

Answer Key

Unit 3. Spiders

Vocabulary Preview p.111

A 1. easily 2.stomach 3. bite
4. deadly 5. spot 6. insect
7. rope 8. climber 9. poison

10. medicine
B 1.a 2b 3.d 4c 5.¢e

oy

easily &7 stomach ¢
deadly X|2=0l bite =Cf
spot & rope 2=

insect 25 climber S47+

medicine 2t poison =
mostly tHEE dangerous /25t
powerful 25t dislike 2J0{5ICt

helpful ==0| ==, {6t

Reading 1 p.112

1.® 2.@ 3.0 4. @
Visualize the Text
(1) Americas (2) web-making (3) females
(4) males (5) poison
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1 % 29 M=ez 71 Lue A2?
@ HolE RAIGHR]
@ HolE2 MHsk= U
® ZE HolEe o
@ 7olel =

=2 = =R

2h= 7Aool Chsl HHstu e, 35l
S0 BN O 370 QIS A% Holof s MFSkD

AL,

2 23 QI=R0| 27} YZS T WHS RN
@ = Miz= @ oz
@ 7o0|E 2¥o=z
X Iy St OFXjet 20l 22 e AS02t Hio] H2

Ho| et Lt A,

3 OZS & SUA=R0| oot dE8e=2 S8 A2
O = o|cH=Fol| At
@ et ool Hish =Ct.
@ 20| AALCH W PISoit
@ =TTt M Aol == g2= gl
2 SR 20| B0 o 31 o SRt
FUEs

® Y2 ® 2 B8 /=2

@ YA = =2 @ =

SHER0| 52 HAYsl= Ae=2 it2 Hi2 o 2ol Lt
2 Z(poison)E 7I2IZICt

@Y They are much larger and more dangerous
than the males.
» much, still, even, far S0| H|ug of| @™
W ~5t 0lzk= 2jo|2 MQ,

]

@Y You can easily tell the female from the male
spiders.
- tell A from B : A?t BE FH=EalCt

@& Because black widows only use a little poison
in each bite, their bites rarely kill people.
s rarely : 79| ~ofX| St=

‘AnswerKey

Reading 2 p.114

1.@ 2.@ 3.® 4.9

Summarize the Text
(1) hate spiders

(2) really helpful

(3) that eat our food

(4) would be very bad
(5) strong and light silk

(6) make medicines

HREEQ MHS2 HOISS H0eith A>FS2 70lS0] 82
7

HOf A2feit), T2t Aol MEE07 o Fsith. A
0IE2 &85 Y=, B0l H=nt ef ot2le] 7{ol= 1o
xpelef ZFA9 1OOOHH7+ S j%%% HE 4 Tk A2
0|7t GUoHH, MAol= S0[ WA & Aozt

HolE2 01ds A
7] floll A3 E THEC, 0] A= O Zotl iR 71En. <
2le QA2 HaEs USHE - Ut 0 8E2 0
dottt. St7iE2 &5 0lXEs 088t f2l= £t 0|9
23S HHEHM 0188ITE AHO|9 & ZXE =50] & 4 ATt
el YR 2 70/Q] SollMRE HSoHC 1422 O
2ol 40| ADIE 20HH, aAS FO[X| Hol2h ax2 22
9| z|19| =20| & 5Ll o[tk

(=AY
1 91 29 HZoR Jhy dgre %7
® 7i0j B= %S S0l
@ 22/o| ==0l, Aol
® 7l 2212 9 A3 BoELY
@ 70]9| SolM 2 of
0] 32 thRO| ARS0| 7108 AOIBIKIE AulSS A
3

S0l 0 Rt XS 0IE S0 25t U

(@]

\ r

2 RS ARME2 off 7OIE Aofsk=71?
O == 7K1 A0M - @ Z&5= HolM
@ 7olz ol @ FaHCL 2ol

0] 29| Xz F=20 tHFEZ2 MFS0| 70IE 2405t A

Answer Key
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OIS aE0 Y2Sith= 80| LT

3 ¢ 29 U81 LX[5H| = A2?
@ 7ol %2 252 Herth
@ 7olel 3= STIlAl =20] 2 4 Uk
@ Hoje HaE oM 01857 |= I,

=
@ 7ole] =2 ARolA oi SIct
Hole] 2oz YR9 og BtE 4 V| W20 =30] 2

=
4 Qlct e,

4 2| 22 themo| 712|7l= A2?
O3 @70 @HE @ St
them2 2 2 ¢f =0 L= Bt&(ropes)S 7121Z1CH,

@ That means without spiders, there would be
far too many insects in the world.

« Without + BAL =0 + wouldlcould / should]
: ~0| glcHH, -2 Ao|ct

rlo

s far too many : M o &

@ We can make ropes from it.
+make A from[out of] B : B2 AS BHsCt

@& So, the next time you see a spider, don’t kill
it.
s next time + 320 + SA}: CH201| ~<t o]

Unit 4. Dinosaurs

Vocabulary Preview p.117

A 1. asteroid 2.brain 3. happen
4. disappear 5. find 6. hit
7. dark 8. problem  9.rule
10.change

B 1.b 2d 3.c 4a 65.e

& oy
rule EX[5tC} X|HistCt asteroid 48t
disappear At2tx|ct

dark 0152

happen 20{Lict, 245t

hit =it

Answer Key

brain |
find &Lt problem =X
true AMMRL (~Of Cifsh) &E== suddenly x|
huge 7cifet
different CH=

Reading 1 p.118

change #alCt

constantly #2810, Az

1.@ 2.9 3.® 4 @

Visualize the Text

(1) asteroid  (2) cloud (3) sunlight

(4) dark (5) cold
<=0
6,400t & XM7iX| SE52 XFE XHHZCE o 852
=2 2K @A 20t HiCt o SEE2 T2 UK
oF OHR XIFARD AIFHO0IUCE T, XY 2= ZES0]
Z=RUCH T L2 iR We| Josich 1008 Holzk AlZE St
DE SE50| O A2bRch 23] & ol UUT AL of
s B57t =2 AL
=g HREE HeiIXiEE2 Mgt AdMo| XHE S=3W7
=0l S850| =UCI MZieith AdHE SFERH 2 7
Cizt (et 22 Z)0|ct 0] Aol XI7t F=2(of st HX|

S2 USRUCE 0| 7150 g Xt X Y=t =
Lol BMACE SES2 T2 7[R0z Mok &~ gl 1
i 252 =2 =ACHESIAUC)

(EXEER)
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@ TR0 MUH AVl @ BB BB 0l
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L4008 & H @1t
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go| S== FEUCD Henz SEO| AR A7l o
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the earth.
@Y Within a million years, every single dinosaurs

@ Until 64 million years ago, dinosaurs ruled

72 iy

o[
B

ol
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PloilME AL

off A&

| 207+ =[ACt
I=]

PRI 4 7]

ZOF CHPEM XFHgoll E2] HAA =Uck=

o

p.120

4.Q

3.0

(", Al A2l R ~olLol

2.2

disappeared.

* Within ~
(1) mammals kept living

Reading 2

1.0
Summarize the Text
(2) live in colder weather

L
%3

(3) they were warm-blooded

35

Answer Key

of Wct,
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(4) found new ways to live

(5) to keep looking for
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pEer  @asel®
@ 2= @ 2zss
IgS Y2 S=20/3m 15

@ Mammals were very different from

dinosaurs.
« different from : ~2} Ck=2

@EJ They found new ways to live.

—
*to liveE new waysE RHFE= FEAN 849

ORI AFRL

@& Cold-blooded animals can go for a long time

without eating.

*can go without ~ : ~gl0| 744 4= QICt

p.122
A 1.dangerous  2.reach 3. happened
4. brain 5. flow
B 1.® 2.@ 3.D
C 1.wonder 2. feather 3. research
4. bite 5. deadly
A 1. have to 2. for 3. and
4. from 5. Within

B 1.has-»have
2. to --» from
3. must --» had to
4. as - to

5. must --» have to

Answer Key

Making Sentence

A 1. not to leave his house
2. wear less clothing to cool down
3. the next time you see a spider
4. every single dinosaur disappeared

5. stars are very far from Earth

(EEET)

» Vocabulary

A 1 =alshl o Ze s,
oM 2 & FAZNR? M= 71710 ZX] 20tMR.

It & 204 F& 20| LOR=EX] OtMR7?

>

2. 49| Z1= Lol o =20] =AU,
DHER @22 s @ FY LS @ R8¢t

3 AR el thEo| 211 W A2 S

22 QEIES Q2 @YU
C 1. wondere 'S7IAME 7iX|1 270l thsl 22siEICH

o ojojolct,

2 feather= ‘M9l 52 E1 U= 71D 22 A
olojo|ct,

3. researche KHMGHA| OfH FHIE ST ©f oojolct

4 bite= 'FLUIE X201 241 WI| Llal 0[S At
Ct o ojojolct,
5. deadly= =71l il =32 #RI0| ==

» English Usage

A 1. ~alopet

toz sflot
. well=known for : ~9=2 A 2{Z
between A and B : A2} B Afo]of|
tell A from B : A2} BE FE5iCt
- Within ~ @ (B4, AlZt A2 2H2]) ~O0|LHoi|

roh

lcp = o

ro

=

o1~ OB

B 1. doLt doesZ AEGH= QR20IM 0| CI20| SAl=

0| LIREZE hasE have® 1IA0f BTt

9| ojofo|ct,

= LIEP o 0]2Hge will have
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3. ~afofet Sitf = 9JolE HEE musts 20| 8
22 IS LEME = had (oS ARESHY I—fEftHEh

4 ~0f =2 o onlE UEHHT| fliAl= (according

ass to2 1XOf it

A 1 mE2 ZR g2 oM S¢t s mutx| o
AE HCt,
2 Os2 Ze Aol/| flellM RS A 2I0J0F SHR| Lt
27

O[X| ZOl2t,

3 12U, S0l oIS 2 W, aXNE =
Af2

4 HHOF A OfULfjof, 2= SES0| o AlRPRCE
5 AEE2 20| X722 i He| B0y ACte &

CHAPTER 6

Technology

Unit 1. Invention
Vocabulary Preview p.127
A 1.flight 2. invent 3. repair
4. experiment 5. repeat 6. article

7. succeed 8.lightbulb 9. filament
10. improve

B 1.c 2.a 3.d 4b b5.e

& ol
invent 25ttt experiment A2E 5ich A
light bulb %+ repeat H=51Ct

repair $2/5iCt article 7|At

“AnswerKey

succeed &3aiCt
last X|5&|Ct

flight H2t
improve 7HM=|CH
replace ASICH
standard ¥&, 7|&

Reading 1 p.128

1.0 2.0 3.® 4 @

develop ZxI5iCt
glow SLICH EfC

Visualize the Text
(2) failures
(4) better

(1) experiments
(3) light bulb

(5) filament (6) longer

22 S WASPIS ZORISUCL 1= MRS BSOHLY| 9
A H0| = S Bi=R0e. 1= Be AIE Y SHIRt 1
= =5t eIt
olCiA2 187810) OfCiAURERAl0|ES HUSLICE 18794
O ECiof HTE VSOE 1= T Lol ErA Tapi=s
OIHALICE 0] ZT= 13ARE 01 SIEUICE 19| BIAA
02 SH MRS AR BX J2im RN 2L C1E wy
EES Jsie BRSLICE
0 HTE 7P2EH0F A0ARE HE AISERD| TH20) ARES o
LS FTE RSALICL TN T2 Zapest HeEE
191010 22124 Holbl= 22ix|o] HAH Talert BE &
A TRIES CHHEHH EIRGUICE DS B o QSO
2 Wx
(CEET)
1 9l 20| Frl= RoRIp

@ oficieol FRBIAL

@ ofcieat 10| &2

@ oficieol Sichst ey

@ olci2ol o2 7ix| wBES

9| 22 0ICi20| XS TS LS TS 0lop|at 20/t

P

2 GAH Zaplsst 7|E Pt 2 FH2 PR0IUL?
® 2ol & @ajzict
@ ol o Tt

Answer Key
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ofH|=E Z2|X7F AR HHE=Z CHHSIEHM o 9_EH7PE
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@& However, he never gave up.
*give up : &7 [ofCt

@Y His helpers at the light company spent time
developing other inventions such as
switches, fuses and wires.
+spend + AlZt+ v=ing : ~olH AlZES ELHCE
*such as : (OIS &01) ~2 22

@& 1n 1910, William David Coolidge replaced the
standard carbon filament with a tungsten
filament.
sreplace A with B : AS BZ HHCHIHA|SHCY,

WA

Answer Key

Reading 2 p.130

1.© 2.0 3.@ 4.9

Summarize the Text
(1) flying in the air

(2) studied hard

(3) tried new gliders

(4) for a very short time

(5) kept improving

1800 = of2l @4t A 2l0|E= SE JHK =HM
HIdoll thet &= 71/ 20IE SMle A 2lds 2
ot OS2 2lHoilM Zas6| LolHM XEXez =2to|Hol
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IS MIFCE SHXIEE 1901H2E 1903E7IK| SIS 7IElS
3ot M AIE 2UCHL I35 AE &2 FH o 30 77t
AL 2= 1903 128 1720] 20|= SH|Q] R i B[eyo]
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@Y In the late 1800s, young Orville and Wilbur
Wright dreamed of air travel as they played

with their kites.
«dream of : ~2 ERLE
cas : ~ofl QS I, ~SIHA

@& They worked hard at the shop and kept
reading articles about gliders.

» keep + v—ing : Al&sHA ~olct

Unit 2. New Technology

Vocabulary Preview p.133

A 1.remember 2. useful 3. mobile
4. future 5. library 6. post card
7. tiny 8. information 9. example
10. surgery

B 1.b 2.e 3.c 4a 5.d

& oy
remember 7[25iC} mobile 0|Sst=
library =A2t post card &AM

information &

tiny O %2

F, &2 fl8h ol

example (&
future Dl2f

surgery == useful Rt
tap (V18 E5 Fe2I0h simple 7FA5H

fix Tx|CtH

“AnswerKey

unpleasant £}t

amazing s2t2

g

—

Reading 1 p.134

1.@ 2.0 3.© 4.
Visualize the Text

(1) library (2) tap (3) postcards
(4) email (5) turn
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4L 2 29 them0| 7127 |= 7127
O M @ RA HIOR @ T @ g

ADIEE OMol= TVE =] OlMl=s AOIEZS RFE

=

U2 ol E4 4 Utt D=2 them HIZ & 20
LE2 music videosE 712]7Ict,

@Y Do you remember when you got your first
mobile phone?
« OZAEO| O =39l gR=E A= 7HEe
RS (CURAL + 30 + SAHS| Ol
@& Let's take a look at how much things have

changed.
+take a look at : ~2 HLC}

@ Now you can email photos of yourself in
front of the Eiffel Tower.
«in front of : ~2 2fof
2Y Now you can enjoy them by just tapping on
the YouTube app in your smartphone.
*by + v=ing : ~EOZM
«tap on : ~2 JHHA FE2(Ct

Reading 2 p.136

1.0 2.9 3.8 4 @

Summarize the Text

(1) so small that you cannot see them
(2) to make tiny robots

(3) fix problems

(4) many dangerous and unpleasant
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@ Many things in our world are getting smaller.
* get + SEA: (~2 HEWZD =Iot

€Y They could fix problems in our bodies

without surgery.

*can ~ without ... : --Gl0] & 4= QUCH,
p.138
A 1.surgery 2.useful 3. Electric

4. experiment 5. example
B 1.0 2.0 3.0

C 1.remember 2.mobile 3.tiny

4. improve 5. invent
A 1.with 2. crying 3.on
4. of 5. cold

B 1. new something - something new
2. off --» on
3. invent - invention
4. have - has

5. did he come --» he came

Making Sentence

A 1. they played with their kites
2. how much things have changed
3. will probably make more useful machines
4. spent time developing other inventions

5. when you got your first mobile phone

EXER)

» Vocabulary

A 1 JUdE 24 MR S2440] Ee3tct
2 0| M2 R0t =2 IS X Ut
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_improvee o £2 MEiE g

[m]

FSOJLHCE 2f Sjojolct,
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» English Usage

A

N O N =

. replace A with B : AS B2 BIECHIHA|SIC, X[t
. keep + v—ing : Al&olA ~5ict

turn on the TV : TVE Tt

. get + FEAL (~2] HETD =0

.—thingez Zls 22 gEAE FHolM Hozx2z

new somethinga something new= IO ST,
LiE4 d9M oloizis Ziths 207t 2= 20| XA
HRO=2 offS on22 1X0f §

=

LA 2 ol2ts HAZE QoF 2R inventE

invention©& 1x0f SiCt,

. 2047} Technology2 3212 40|22 haveS has2

IXOF it

 EOEER QAL + 30 + SAPS| 01&0] =[0{0f

S22 did he comeS he camel2 110} SiCt

» Making Sentence

A

MO DN -

Jdse Y2 7R =AM Hiof tfet = 71RO,
ZofLt ‘Eg% s/t JAJ=K| =AY

o 2%

SIS O XSOR HCES M| 7 (BN

Answer Key
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CHAPTER 7

People & Origin

Unit 1. People

Vocabulary Preview p.143

A 1. trick 2. behind 3. secret
4.handcuffs 5. carefully 6. magic
7. perfect 8. travel 9. safe
10. breath

B 1.c 2b 3.d 4.a b5.e

1 oY

tick &4 handcuffs ¢
magic 0f& travel GiefsIcH
perfect =5t carefully 2|27

safe st
behind ~2| Fof

escape &5t

secret H|Z9| H|
breath & &
mostly &=, fexo=z
notice F=aICt OFRICE
step ZCt SZ/oict

Reading 1 p.144

1.@ 2.0 3.0 4. O

nervous ==sHch=

Visualize the Text

(2) successful
(4) handcuffs

(1) escape

(3) famous

f

gil2 Okes Z0fskerf? 2Z0H, gil2 ofot= si2] =0
LS & Aolth O= U2 MFEE 20FUCt. J22iut f2= =
2 I8 289 =2 J|deltt 259 a2t o SR Xt
SAL pZOIME HHUE 4~ U= AlRS Zelct

J= 0=3YE SOUBM ok 0k J2{L 1899E 7|
= SSHOIX| §UCE T ) B S 0fLX7E 2 LOIERUTS,

Answer Key
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DHHE @F2 QF2 @F=2
mostlye F2, Ygo= ak= 2|ojo|d] largely, mainly,
generally 25 Z2 QojoiCt, actuallys “MHZ, YU
o] ojn|Z C}2 <jojo|ct,

@ An escape artist can get out of any kind of
lock or handcuff.
* get out of : ~O{lA] LEZICH

@ But he was not successful until 1899.
enot ~ until -+ : --MHPEK| ~SEX| KLt ( ---0] T

1 H[2A ~3}h



@ With his help, Houdini quickly became
famous.
+ With one’s help : ~9| =892

Reading 2 p.146

1.0 2.9 3.@ 4 @

Summarize the Text

(1) big and very heavy handcuffs
(2) to keep his tricks secret

(3) escape from them

(4) his name was safe
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2 ¢ 29 UE1 LXIoHK| = A2?
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“«AnswerKey

@ soflel= sdolA WA L= O 508 Ol ZFC
sliel= 19| Oks0| HjL2 = iRty | R0 AE F=2 7t
A Ol=2 30, RS2 19 Ok g 2 = S
3 2 29l them0| 727 = H27?
@ R @Y Q@F Xt @ =Xt
shi2l7t 2A(them)LZ2EE WA LE<IOF
them2 ¢ 280 L= aZ(handcuffs)g 712I7ICt
4 2| 29 L& T 20| Yootz Aoz JHE YTk A2?
@ afi2l= FAfs
@ afi2l= X9
Q@ BE A0 19

@ 1= 9
=

@& Two men came up and put the handcuffs on
Harry.
«come up : CE7PiCH

@ Harry wanted his tricks to be secret.

s want + =X0{ + to-v : ZH0I} ~517 | Holitt

@Y Harry took a deep breath.
«take a deep breath : (Z7)) ASS3ICt

Unit 2. Origin

Vocabulary Preview p.149

A 1.probably  2.needle 3. popular
4. tongue 5. pierce 6.ride
7. poem 8. wave 9. prayer

10. practice
B 1.a 2b 3e 4d 5.c

1 oY

popular 27| = tongue o
probably oot needle =
pierce (#58t 7|1512) ECt wave It=

Answer Key
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poem Al prayer /|=&

practice S&atCt ride Efct
mark H#A[SICH area A9
religion &1 almost 712

stay HE=LC}

Reading 1 p.150

1.©@ 2.9 3.@ 4 @

Visualize the Text
(1) ink (2) holes
(4) show (5) mark

(3) histories
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Answer Key

of ¥25 d=20[H, mofdut DIEVIXIZ 2 HALE 71X
1 lct
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[ LSS T2 NZSRO H B2 TojAS Lt |
oI 282 FES0| HE MHEEH o B2 mods
sitt= B2, £0t2S MES0| 259 XIRIE BHFT|
Floll TlofdE eitk= WE TS0l S01710F oitt

@& 1ntattooing, people put ink into their skin
with needles.

—

+in doing something : ~dl= TFF0lIA], ~& i

@EY Both body piercing and tattooing have long
histories.
*both A and B : A B & C}

@ For example, the Surma people in northern
Africa use body piercing to show their
importance.

«to showe= HOF7| 2l 2= ooz =S58

LIEIU= toS AR,



‘AnswerKey

Reading 2 162 @ osY Oi=Epl= F2 HamLojel SRR 01|
QlC}

1.0 2.0 3.@ 4@ QL UIZE = X M sl 22| SeiXin J1E &
A F Sit= Sttolo|Ch
Summarize the Text 3 olLt= siefolo|ct

(1) a popular sport 4 5I210[0IN 2Tt YAD TIZEDIS THY & Y 4 QU o]

(2) in Hawaii e PR i

(3) wave sliding @ Yo| oi=Ef7[of st 7|=E2 TSRV R0

© &1t X0l TEEP IS 7| R0
@) their religion ® CI2 31910] ARRISOl HisH 2125
(5) still important @ OI7PAIZI0] 0P SIS B0| B 4 QoA
SIRO|0[A Hel HE AIFHE0] II=EVIE el &1t &

m At= O47tAIZHO| Eot S Ho| & 4 UAAY| W20l 7+&
O TZEP|= T A SHOIA Ha| sEjxl= Amxolt 22 R = A BN el
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4. prayer 5. trick
A 1.tohelp 2. much 3. of
4. With 5. trying

B 1.hear - to hear
2. cook --» cooking
3. has --» have
4. much --» more

5. could not --»» could

Making Sentence

A 1. wanted his tricks to be secret
2. remember him as an escape artist
3. there are still some ancient cultures
4. a popular sport at beaches

5. body piercing to show their importance
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